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52/1

QUE: T : AUTSATI- AT/ TTSd-Taaieq

Section A : Unseen Reading Comprehension

WUE: G : TWATHSHFHEY | TEHTCHSR -1

Section B : Writing Skills

Que: T : ATIGHATROH [ STTIGTH TR
Section C : Applied Grammar '

Qug: ¥ : Ufed-Haaieny / qfed- e

Section D : Reading Comprehension

Adr :

Instructions :

(t)

(i)

(i)

(iv)

)

3G J7793 TR @UST: Tl |
G Yv-97 4 IR @UE & |

This question paper has four sections.

Ja@Usy, IO JeraTy, ITYdahrdl @i |

I QU % IR &1 T§ It -GIeiehl 8 &l for@ & |

The answers have to be written in the answer-sheet.

Tl QUSY SIghed STRII0T Ui T 80T a1 |
I GUS % IR T & ST W HH ¥ fore gl |

The answers to each section must be written at one place serially.

Y¥9R T T ARG |
99T R IR T 1@ |

Don't write answers in the question paper.
SeHGEI] FETIAFHRY STavTHe AGH1T |
S¥TH % STJHR T -1 ST & fora1 gt |

Write the question number according to the question paper.

12 3T

12 3TT:

28 3T

28 3T



(vi)  FAGT JEHTATY ITRIT TR AGH 1271 |
Tt J91 % IR W I (1180 |
Answer all the questions in Sanskrit.
Que: ‘&
(Section A)
JUTSATIT - SFATNYAY (3HUTS - ST ) 12 g

(Unseen Reading Comprehension)

1. Sfaiady dg=ae i Ty T 3d :
ffeiaa sTg=ae 1 yga fou oyt % S g § faf -
Read the following passage and answer the given questions in Sanskrit :
e mgd @t ywafa, Serm: wga e aaaid | e @ v e
forqwiq, =1 wh: vreq: e TR TRl g gl qe T e
SITa: | At =R T | U g e — (378 e Sehil =i
TR | F: Vd A& SRAH TTIRIea =ATefiere T8 Taa | =i o
Fqd JIc g aq | Tfeh: 3TEeq- WI: TodgulT: TETEIHN QTaR: e
T AR e — ARl AR wered SRsh Wiy W
AFEH A Heagem: o2 forem: w) e WW'W
i W1 5% | AfvsTa: | S et aa: B |
9T
I 3fay 3w e fomaa |
| 3 I g faflam |
Choose and write the correct answer. . 1%2=2
(%) HEAT: gl Foh TTRIT 7
() ==

(i) Tormm:

(iii) =TeRE

(iv) @ |
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(@) ol FReRai: forem: wa ?
(i) AT
(i) =rETEETETy
(iii) TETEIHIT,
(iv) SaEm|
I qUiEeRE ST |
ot 3R 1§ SR g |

Answer in a complete sentence. 2x2=4
(i) o ~ATIEAM Al g ToSid & 7
(ii) —mmefer: formef g ervaEq ?

[ Yeafashedsy: Iaq 3w e foeq |

fow o forereat & @ 3 3w ge fafaw)
Choose and write the appropriate answer from the given options. 1x4=4
(%) ‘“ofeera:’ 3fa vey 3 e fasoomg ?
(G) e (i) e
(iil) T (iv) afee)
(@) ‘gawn:’ i i feeimuey g=se gy ?
(i) @R (i) getw:
(i) Torem: (iv) TrmERaR:|
() T mae {il $E: A¥ad - 3 a9 3 GeAmud He
T 7 |
(i) SR (i) &=
(iii) <& (iv) gfem|
(") ‘uraafa’ sfafsames squs oy ?
(i) HgEq
(i)  hgdl
(iii) T
(iv) Ter&m
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IV 3 Tf=ae ayfud sideh yeataereus: foen forad |
T T3 o foTu 3ugwh wiides fou e et § & grem fofan|

Write a suitable title for this paragraph from the given options. 2
() ifda: o
(il) arfwres: =i
(iii) STy
Tve: ‘@’
(Section B)
TEATCHEHEHTAY (TeATeHE - ) 12 3=

(Writing Skills)

2. @t i forfaey steas gesoyesae: i forad
a1 ot =t ford e fwaferRaa o =t wispn 9 fog 7 wreat @ qof o ferfian -

Complete and rewrite the following letter, written to your friend, with the

help of the words given in the box : Vo x 8=4
ETARREBICOEN
(1) |
Tafer:
SrTafeTaEoT: HTEET: |
I A FUCH | T, AU (i) ' =g 93|
HEATe e aifdenied: (jv) TEUT: YT WS |
(vi) | T SEEHE TG, (vii) ATT=Sg | 7
Iearga g wisafy | '
Teety i,
(viii) t
STt

35d, fogha:, Tureh, Aeem, 9ry |, Sraree:, g0wT:, i |
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3. TR Ui HesT-YeaueHl SEradT Sy, Seehaaney Fed
= fow o fot =1 3o A # fow o wredl it wRAT 9 WR Gepd gt §
CAIEIE
Describe the following picture in four Sanskrit sentences with the help of
the words given in the box below : 2x4=8

ST _
SISy, BE:, WA=, Hied, Seiees:, fawm:, hahehety, fisfN,
UTGehrgeRY, IMRITER: , forermere, wwe:, e, g&dshgend, TR, 93l |

& OR
(For Blind Candidates only)
SS[UT-YaqueHl |rere Fefafadtasry, ftga aqy Sehaaray Ty
I1g=as fowd
T # fa e wrsq ﬁasmmﬁﬁﬂ%%ﬂﬁwthﬁwﬁm‘iﬁ@
IT=s forta :

Write a paragraph in four Sanskrit sentences on the following topic with
- the help of the words given in the box : : 2x4=8

“qarraﬁ q,’
HRY

J&T:, T S, TYHEHT: , TI8UH, SoH, Jrev, fase, g1 = $aiq, s,
fasf=y, waiawom, aTad, gaRmoY vy, gay |

52/1 6



Que: T
(Section C)
AITTHEATRIOY (ST SATHTT) 28 ST
(Applied Grammar)
4.  reiffaqarery WerfEaudy |4 afEeas an s foed -

frferRaa amerit o Yaifera vai 8 iy s1uan afifaese ek fafe :
Write the underlined words of the following sentences after joining or
disjoining Sandhis : 1x4=4
(i)  ZreaedT MY aq + e afeed: 9 Fd: |
(ii) ORI T Srefterd |
(i) Gder foRmM: + T 4 fhaTehet I |
(iv) UIfoHTS |e1 §:EH |

5. seifiREdarRy YarEquen auw R a1 et R e -
frafafaa et 3 wfsd 1et o1 aum e fore e T et 3 @ g
forfta
Choose and write the correct compound or expound form of the underlined
words of the following sentences : 1X6=6

(%) Torggtil: yerl wel e STueEd el |
() Tome T a:
(i) foger ot == w:
(iii) Tomet ft: 7= T
(iv) Tergen: fer: afdm : |
(@) =1 T afgay afewfa)
(i) Ry
(i) g
(iii) sHreFEfEa
(iv) afeasian|

52/1 7 [P.T.O.
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()

(%)

()

IUTaTed BT shiefd |

(i) ToaeE= g

(i) Tomere gfiayg
(iii) Teremer Frmed
(iv) Yk foamed |
qroft < UTE) = VefTed e FE |
(i)  9TfigreT:

(i)  GTfoTaTg:

(iii) Tfomg SO
(iv) rfoITey

38 TECTehTIT T |
(i) UEeH FEY

(i) T Y

(iii) T 9 qq FEY
(iv) e | |
g:@qa?ﬁmmm'm|
(i)  gEAT

(i) g-@rdtar

(iii) Adlag:@:

(iv) gzl

FefRgaaTe: gwrriad: e Ty sy foed:
FrafaRaa amer @ wige & sia foU T UaT % Yehfauerat i siea fofan -

Write the words of the following sentences after joining suffixes to the

roots or words given in the brackets :

() TR

@ e

(F01 + &) F: 7 S ¢
(A + o) T ferent werdt |

1x2=2



7. oeiffaqaRy Wiy sk @i e a1 eyl W
fospeu: e foraa -
Frfetfiaa arerl § T@Tted 9at & Wehfd-Tedai ol gt 3127aT YU Fieh 3fa
I faepedl § @ e forfla -

Write the underlined words of the following sentences after joining or

disjoining suffixes to the roots or words. Choose the correct answer from
| the given options : 72x4=2
(%) Fa + g SArfcteht T |
@ T
(i) A
(i) Fea=dt
(iv) =i
(@) JOhR AMHMET: ST JHaT: Jai=d |
1) T+3g
(i) T+ AF
(iil) T + T
(v) T+
(1) e 3fide + ae] g I JEE el |
(i)  ftaeram
(ii)  Sfidercay
(iii) Sfaerar
- (iv) Yfaem|
(F) FHR FeAT WA SR |
(i) FAR+2m
(1) <PHR + 3G
(111) @Tﬁ +3
(iv) FAR + ST
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A TCeherTi Hos[uR JexueEEraal Ifd: Sreaue: R
foraa -

frfeRaa amermt o ik wormi ot i wspn | o e 3t stet & g ifse

Fill in the blanks in the following sentences with appropriate indeclinables

given in the box : 1260
(i) A e
(i) @ TR S T SRR
(v) R =
(V) %ﬁ WTFH ‘TR%T alaxl Hé@di—a aqf&ulmm: '{-Tﬁl
(vi) d STeTeRT: TTHT Frsf=|

HSSIT

e, Iq, T, ofe:, 41, 76 |

e ehed 3 IFIaHEATIs e ST I -
faw T foereai § @ 3fua deame greR e quf FifS

Choose the correct numerical words from the options given below and

complete the sentencés : 1x4=4
R
(i) <Al (i) =ER:
(iif) =rquony (iv) =ag: |
@) g T T
” () fa= (i) for
(i) = (iv) T4
(-,-I-) ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ma@wgﬁl
(i) TFETH (i) Th
(i) T (iv) THEH]

10




10.  SrefciRaqarRy Wefwaued, geH, 3w | 3faay Iw veafameda: o
TY[Eue e foraa -
ﬁ%mwmﬁ%@%ﬁwaﬂaﬁlmmﬁﬁﬁ%ﬁamw
Y[ IS I e & fafa -

Choose the correct answer from the given options and correct the

underlined incorrect words in the following sentences : 1x4=4
(%) w@vA ferafé)

() TorEa: (i) Toaf=

(iii) ferafa (iv) fo@)
(@) = @ ord afem: |

(i) ufewnfy (i) TT™

(i) 9™ (iv) 393:|
(1) SRR 39 favataemeaa af=

OBRELEIEEISRIE Y IRELEICEINE!

(i) Tavafaame™y (iv) Tevafammemt|
(%) = el reeh i |

(i) zetH (i) TwEfE

(i) TwIY (iv) s&at|

Qs v
(Section D)
ufea-srastey (ufsq-saatem) 28 3T

(Reading Comprehension)
11, renfafed wene, ve, A = ufsen yeaymTgi o -
fefTRaa e, e 3R A o yge fow eyl 3 SR e
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52/1

Read the following prose, poetry and drama passages and answer the

given questions :

1 gl At TAEEe B shigd: Hifvd STeTeh Y& STagarg - o o

ST AT TdEd favd @ Fiey ¢ afe wiveq 79 Tdq akk |

feparreant s ol ateny 31gvaql’ deeged Y Shiverd 358US: STeTeh:
3aTE - A o1 | 7EE afe Y yaw guY TResa 3T U g Ya ¢
Y 32 )] SFA SEEl Uiiedra R TesdaTE: ST
“fenfire et fergigr oy ue el ? STet Fany snifiaw v Sigef
T FARTRER | TEULEH 39 3 aTerar=el 7 wgdl agitord |

g4t

[

II

1

TehueT 3Td |
Teh 1e€ § I SIS |

Answer in one word.

(i)  ared HTT o shigi & ¢
(i)  STcTe=ET e T gg-Herd ?

qUiETER 3T |
qui e | IR i |

Answer 1n a complete sentence.

IEUS: ATeth: fohg 3aTe ?
et 3feay I e o |
Toepeat & @ 3fua 3w g fafau

Choose and write the correct answer from the given options.

(%) TN AFHAG il TR Toh Shuar ?
(i) =hfTaq (i) I

(iii) @ (iv) Tereperrgat: |
(@) ‘Ieve:’ 3fd vew faemug o
(i) &= (i) fam:
(i) 3 (iv) gfaa:|
12

ax2=1

2ax2=1



(3m) w=y
eI AT el ST |
T HATTY ThROT O TR ||
qIdT:
[ Uh9ed 3d|
T I8 T I I |
Answer in one word. . Vax2=1
(i) = T g
(i) OFfam w=i : 7 9iegd ?
I YuiETeRH 3Tl
quf T § I ST |
Answer in a complete sentence. 2
W:Wﬁrqﬁﬁﬁ%?
I foeret: 3ty 3@ fam foaa |
Torereat o @ 3fra s g farfa
Choose and write the correct answer from the given options.  /2x2=1
(%) ‘wfopd’ sk e #gus o ?
(1) @9 - (i1)) 3B
(iii) W: (iv) S|
(@) ‘amedg:’ g foemoee foh fomrsdey ?
(i) e (i) 3T
(i) = (iv) w=T

(3) s |

gdeATieRrl - | UAq feaT-suersmmuse feyd s - ARy |
I AR G ARG [EFTe: TRETehT: | 3T
33 o v |

Frersr: - IR AN 38 M| 3¢ g darg-Ter st i
gz |

THEATISRRY - TR AT | THe g qarg 3id T TS 31
IEHS: | TSIRaHl Sgraaen FHaree el )
SUTGEERCAC IR R E G FA R s Tl
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it -

TIAT:

II

I

Tt Y feay|

TS I |

T 158 § I |

Answer in one word.

() IHFIGEERT: T Tl ?

(i) feam-sucrsmuss & fedmy 7
R 3|

oot gy § 3 ferfau |

Answer in a complete sentence.
‘darg-mrar’ gfd ufrg: e 33 e
et 3fuay 3w faea forma |
Torepeat o @ 3fa 3w grew ferfan)|

Choose and write the correct answer from the given options.
(%) ‘Tl sfiueey & faeryoaey 3 g ?
() efragomy i) TR

(iii) TRememmn (iv) shgfrem:|
(@) ‘S’ gfafsemes e fey ?

Q) WS (i) 7Y

(iii) TATY (iv) s

AeiferfaaeRera: TR w feede: fe fovea -

Frefaftaa St Fet 1 3ugE wia faeweal § @ g fafau :

Choose and write the correct gist of the following two sentences from the
given options :

() W FATE AR G G |
(i) o T G T STTER: |

14

! T 3T Wav Tpmgved. 3fd geiHe-

Vax2=1

ax2=1

1x2=2



(ii)  oTer: AT FETOET AT |
(i) G T HTeTE TOMT STEEaET |
| (iv) §3 U@ FHeH: |
(@) refifoaes g gal &d: Sl 9 |
(i) TE&h: = GHM, 9 hisfy 9e: T |

(i) o o 9 1 & g 5 9 wer 7 3fa ot @ @ o
TR T HgE: T |

(i) &9 &R fuafd, 9 & 9 = e o1 ¥4e:)
(iv) TOS I = F07: Yaq: wafd |

13.  wosTa: ayfud ug e aiﬁﬁrﬁmmw
T[T § § T g e e feiEd 11 etiehl o 317 % U shitee :

Complete the prose order of the following two shlokas by choosing.the
appropriate words given in the box : 14x8=4

(%) wfefd o 7T =gk qaRmaytoaT |
3T Tt Tt | weavag sty a1

(iii) | Taqd (iv) 0

(@) gy: qUHHIsTY, T T Wolhies: |

T Aferes ., 71 J wiearsiie ||
I - 3;|-|—a-q: (1) . wm\m wufa_ﬂﬁa;: =y (11) SRt g
ek N

TR, 3151, TRelen, =rahm, o1: STfRrenT, weag idfam |

14.  TEifsauert sy st 5|

52/1 15 e




15.

16.

52/1

TifeRd Tal o SR 9 e - Fmtor fifsr

Frame the questions on the basis of the underlined words.

() i 3maer axfor: |

(i)  ITEUTT=EC! YSTSTE YehT: e Jaef=d |
(iii)  ERFeT Stk TRtw F ST |

(iv) e Hr: e =g e |

srenferfadarrnts semragar fom -
frafertiaa arert =l oo o % o IR forfau -

Write the following sentences in their sequential order :

() =R Tea Teea ey ATeT, ST R smEesd we vl |

(i) ey U g SreafiE |

(i) 3TEH J TATgel: Fegardl aq Hiat: R weaf= |
(iv) | TFTEHISE SETUN Fd TEH: |

(v) 3@ FAFH vEe: |

(vi) TJd Igf o Teh: g9 |

(vii) Toh srerfis: 2l shreheren siheaTm i |

(viii) TSTEH! STk Y- & { g FIM |

wETtgaueT yewTgaRy 31 foen fowa |
T@ifera wal o JEwTgEr 31 g ferfa |

1x4=4

2x8=4

Choose and write the correct contextual meanings of the underlined words. 1x2=2

(%) gegfe: T af yerew e 3tfémd |

(i) TR (i) SHEUHT Feal

(iii) Torpey faean (iv) HEehed el
(@) 3! =y 39 Tgehed g e 3|

(i) TR (i) e

(iii) oregEF IR (iv) T

16



